
cf=j= 2071.2072 df Dofbyk tyf e"QmfgL x'g jf+sL of]hgfx? 
dlxnfnfO{ k|ToIf kmfO{bf k"Ug] of]hgfx? 

 qm=;+= of]hgf ljj/)f 
ah]6 ? 

1 l;nfOs^fO l;k ljsf; sfo{s|d - Psn dlxnf_  50000 
  hDdf 50000 

afnaflnsfnfO k|ToIf kmfObf k'Ug] of]hgfx? 

s_ k'jf{wf/ ljsf; tkm{   
1 j*f g+= 1 / 2 hfg] rf}af^f]df jfnd}qL kfs{ lgdf{)f 200000 

2 j*f g+= 8 k'/fgf] xf^jhf/ k|ltIffno cufl* jfnd}qL kfs{ lgdf{)f 150000 

3 j*f g+= 8 df /x]sf] ;]tf]u'+/f+; ejg dd{t u/L jfn;efu[x lgdf{)f ug]{ sfo{ 100000 

4 j*f g+= 9 df /x]sf]  k|fylds :jf:Yo rf}sL cf}ifwL ljt/)f sIf lgdf{)f 125000 

5 j*f g+= 12 sf]  d~h'>L k|f=lj=df jfnd}qL ejg lgdf{)f 300000 

      

  hDdf 875000 

cflbjf;L hghftLnfO{ kmfO{bf k'Ug] of]hgfx? 

  of]hgf ljj/)f ah]6 ? 

s_ k'jf{wf/ ljsf; tkm{   
1 Jf*f g++ 1 / 2 hfg] rf}jf^f]df k|ltIffno lgdf{)f 150000 

aftfj/)f Joj:yfkg ljz]if sf]iftkm{sf] of]hgfx? 
1 j*f g+= 9 hd'gf k}gL %]pdf /x]sf] ;fj{hlgs ;f}rfno dd{t  50000 
  s'n Aoo 50000 

cf=j=@)&!.@)&@ sf] Dofb yk ePsf]  / e'QmfgL lbg jf+sL k|j4{gfTds tkm{sf of]hgfx? 
1 j8f g+= ! Gfd'gf j:tLsf] blIf0f x'b} wG;f/ kl6 hfg] af6f] lj:tf/ tyf ;'wf/ ug]{ 50000 
2 j8f g+= * cf}tf/6f]n rf]s b]vL whf3f6 ;Dd af6f] lj:tf/ tyf ;'wf/ ug]{  100000 
  hDDff 150000 
   

cf=j=@)&!.@)&@ df sfo{ ;DkGg ePsf] e'QmfgL lbg jf+sL k|j4{gfTds tkm{sf of]hgfx? 
1 j8f g+= $ sf] hgsNof0f k|f=lj=b]vL blIf0f ed/f vf]nfsf] k'n;Dd af6f] lj:tf/ tyf ;'wf/ ug]{  75000 
2 j8f g+= $ s5l8of6f]naf6 lzv/ j:tL hf]8\g] af6f] lj:Tff/ tyf ;'wf/ ug]{ 100000 
3 j8f g+= & d]/f] df]afO{nsf] 6fj/ b]vL lnlRr6f]n hfg] af6f] lj:tf/ tyf ;'wf/ ug]{  100000 
4 gu/kflnsfsf] utLljlw jf/] ;fj{hlgs ;'gjfO{ ug]{ sfo{ 75000 
  hDDff 350000 

  s'n hDdf 1625000 
 


